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Question Number : 1 Question Id : 7935234101 Display Question Number : Yes Is Question Mandatory : No
Capacitor 1s a device used to

S0 T DOES0 B SHTrNN?

Options :
1. store electrical energy
y D5 F8 D § DONTOE
2. vary the resistance
) QEHE S IS ITRE
2.

3. store magnetic energy
90D 0e% 35 Qe £ DANEVE

4. dissipate energy

38 [RS8

Question Number : 2 Question Id : 7935234102 Display Question Number : Yes Is Question Mandatory : No

The electrostatic potential is the at all points on an equipotential surface.
DB 5 TE3E PTIVCHS T N DB B5HOH0D Q) FONOE
SO 950D,

Options :



1. Double

B0
1. ®
2. Different
AINRFRAINI
2. %
3. Same
v D
4. zero

, AP

Question Number : 3 Question Id : 7935234103 Display Question Number : Yes Is Question Mandatory : No

Which of the following i1s an example of dielectrics?

808 ¢3S DT LTTE ST Bea?

Options :
1. Mica
Lx DT
2. Plastic
NS

2. ®



3. Glass
3% e

4. All the above
4 T@Jl}f@&

Question Number : 4 Question Id : 7935234104 Display Question Number : Yes Is Question Mandatory : No

Which one of these is not the property of good dielectric?

& EB0A A DE NOD) DN LTFTIE HDODOHODD OS50 5°¢0?

Options :
1. Low loss factor
L 80D o) 52080
1.

2. good dielectric strength

NVOTARS AV 1S

-

3. high temperature stability
9O el |(ied VBed 50

4. low frequency response

580209 D°RIYSO (D3NN

4. ¢



Question Number : 5 Question Id : 7935234105 Display Question Number : Yes Is Question Mandatory : No
Capacitance is given by

BTN O T°40° ¥ [0S

Options :
Q
1. C==
1. ¢ i
D =
2. % @
2
3. =22
3. % Vv
e
4 % 2V

Question Number : 6 Question Id : 7935234106 Display Question Number : Yes Is Question Mandatory : No

Capacitance of a parallel plate capacitor is
2,8 D305 E WE Baredd @) arsndso

Options :




3.¢
4 =54
4 % ad

Question Number : 7 Question Id : 7935234107 Display Question Number : Yes Is Question Mandatory : No
Which law 1s the backbone of Magnetostatics?

Q) AONNAD SR ¢35 ) B0 ITYLSWE er0e3D?
Options :

1. Newton’s first law

A5 O30E) BNEES DO

2. Biot — Savart law
Lo RO - TG AavHOo

3. Kirchhoff’s second law

. 80° Yo A& DO QOVO
4. Hooke’s law
§ VT QDO
4.

Question Number : 8 Question Id : 7935234108 Display Question Number : Yes Is Question Mandatory : No



Identify the expression for magnetic induction from the following

EOA °¢3 OG 0NN 0% DB DaDEBE0 & HOO0IOB

Options :

1. B= H 41
v 1o ( )

- 2. B=u,(H-1)

3. B=yy(HxI)

4. B=p,(H/T)

4, %

Question Number : 9 Question Id : 7935234109 Display Question Number : Yes Is Question Mandatory : No

Magnetic fields force moving electrically charged particles in a path.
AN, 0ch T ST N SIS0 DAVDS 70 DADDBD JeTON
EHOT Q.
Options :

1. Straight
e feMex

2. Curved
5 % a0 od)



3. Circular

QY 5O
3.¢¥
4. Loop
L% €33%a)

Question Number : 10 Question Id : 7935234110 Display Question Number : Yes Is Question Mandatory : No
A moving charge produces
2.8 868 70 BA 6538 TVOE?
Options :
1. only electric field
D5 B (50 357 Hod

2. only magnetic field

L% ODRT)OS B (50 s37(Bad

3. both (1) and (2)
BOC” (1) DB (2)

4. none of the above

Lx DID T



Question Number : 11 Question Id : 7935234111 Display Question Number : Yes Is Question Mandatory : No

Lenz’s law states that the direction of 1s such that it always opposes the change
responsible for its production.
S025 T30E) AONSD [DSBeI0 A3NE) OF 7 56518 B
337D YA D) ICE® 553 DEN0A.
Options :

1. Magnetic field
0D 065 T (50

1. %

2. Motion
5 % YO0

3. induced current
- 08¢ B0

4. electric field
DB 3 (50

Question Number : 12 Question Id : 7935234112 Display Question Number : Yes Is Question Mandatory : No
Which 1s the factor that leads to the energy loss in a transformer?

= = d
STSITS2065 38 S8 B3 ©0F0 DE?

Options :



1. Core loss

0 20

1. #

2. Copper loss
oA Sed0

flux leakage

x5 OTS

Tad

4. all of the above
IR,

4.9

Question Number : 13 Question Id : 7935234113 Display Question Number : Yes Is Question Mandatory : No
. At resonance frequency the impedance in series LCR circuit is

D83 £ DB Y 9D 1B LCR HET), 56565 0380 D0ed &50eN0E?
Options :

1. Maximum
K80

-

Zero
5 % QW)



Minimum
3 é tﬁl ;:‘1 O

(4l

4. 1nfimty
4 % 0H0

Question Number : 14 Question Id : 7935234114 Display Question Number : Yes Is Question Mandatory : No
AC motors are available in
AC Srerd 8BS oereneS &) an
Options :
1. two — phase

- A -3

2. three — phase
5 % a0 — 5%

3. single — phase
e D5 -9

4. all the above
o DO

Question Number : 15 Question Id : 7935234115 Display Question Number : Yes Is Question Mandatory : No



The curl of the electric filed intensity 1s

DS B b Boded By §O

Options :
1. Conservative
E00 56300
2. Divergent

L x DI

Rotational
R CA =

fid

4. Static

Question Number : 16 Question Id : 7935234116 Display Question Number : Yes Is Question Mandatory : No

Which of the following 1s an electromagnetic wave?
80A ¢3S DN 06 HSEONO DE?
Options :
1. o-rtays
a —8OeTren)



2. - Tays

y — 8&egren
2.
3. Pp-rays
p—8Oearen
3. %
4. all of them
L IS

Question Number : 17 Question Id : 7935234117 Display Question Number : Yes Is Question Mandatory : No

The valence electron of a conductor is called as
080 B0E) B0 dO(SR Q N0 ?
Options :

1. Bound electron

. 06 IOTD
1. =

2. Nucleus
.« S0&%0

free electron
RS DOITR

Lw

3.



4. proton
x0T

Question Number : 18 Question Id : 7935234118 Display Question Number : Yes Is Question Mandatory : No

The lead marked with the arrow 1s

2208 (HBOBDAD O&
Options :

1. The collector
. &%

2. The base

Limylele

2. ®

3. The emitter
., G0

4. The case

s B



Question Number : 19 Question Id : 7935234119 Display Question Number : Yes Is Question Mandatory : No
If the input of the NOT gateis A=101 1, its output is

NOT R¢d B0E) [NYO A=1011 ®ONS, T° 9HEN I

Options :

1. 0100
1. ¢
21011
s
L. 31000
4. 0011
4, %

Question Number : 20 Question Id : 7935234120 Display Question Number : Yes Is Question Mandatory : No
How do you write 7 in binary?
BIBS 7 der ST E?

Options :
I: 11

1. ®

-2

1011

2. 8

fid

4 ]
3.¢



4. 010

Question Number : 21 Question Id : 7935234121 Display Question Number : Yes Is Question Mandatory : No

Zeeman effect is the splitting of spectral line in the presence of
20 (02750 B Ds0F 06T 585 DR D2520t00?

Options :
1. Electric field

[V R le
2. magnetic field
9O0NN)065 3 (650
2.
3. 1nert environment
- 2308 N0
4. vacuum
& 5075 0
4, %

Question Number : 22 Question Id : 7935234122 Display Question Number : Yes Is Question Mandatory : No

According to Bohr’s model of hydrogen atom
5°0 A&y rHEOES @) BT ST (D570



Options :
1. the linear velocity of the electron 1s quantised.

QO TR AWBNEY DA J50 B8 092 OA.

1. #
2. the angular velocity of the electron is quantised.
Lk OOTS B Fe3ah S0 B0 theod.
3. the linear momentum of the electron is quantised.
- DO TS BE), OJOHE DO 0EI0 BE)0H2ERNOE.

4. the angular momentum of the electron is quantised.
DO[TS TBFE), FEF0D V0D O0EIO BE 0B 0.

4. v

Question Number : 23 Question Id : 7935234123 Display Question Number : Yes Is Question Mandatory : No
Which one of the following is the type of molecular spectra?
208 ¢3S OB DT 350 DE?

Options :

1. Pure rotational spectra
DL I (256069 QD EIN

)

molecular spectra

OB EHD Y5



fid

Vibrational and rotational spectra
FDVAND DBAW FTRA® YT

4. all of the above

DI

4.9

Question Number : 24 Question Id : 7935234124 Display Question Number : Yes Is Question Mandatory : No

Raman effect 1s the scattering of
T"0® (22750 B DOT DA

Options :
1. Atoms
DG AITEN )N
1. %
2. Molecules
- CIEN )N
3. Protons
DS EFTD
3, % =

4. Photons
NEARNY

4. ¢



Question Number : 25 Question Id : 7935234125 Display Question Number : Yes Is Question Mandatory : No

What 1s Compton shift?
00 AP GO DEI?
Options :

1. shift in wavelength

SB0H8T0506S 573

1. ¢

2. shift in frequency

L D855 )

shift in charges
S3FTOS D)

[ ]

4. shift in radiation

BADASS 7))

Question Number : 26 Question Id : 7935234126 Display Question Number : Yes Is Question Mandatory : No
A perfect black body 1s one which 1s black in color and

DT I EYad 63 3eNY) GO DB B EE)N &0ENOO
Options :

1. reflects all heat
SAQ O (HeBEI0E)NOE



-2

transmits all heat radiations
@) &) DBBETOD (DPS0 TROE

2. %
3. absorbs all incoming light and reflects at all.
D) S0 OE® a0 OO 1DBE)0LNOE.
3. %

4. Absorbs all incident radiation

» ) NOaDEID DABTDARAD (130D

Question Number : 27 Question Id : 7935234127 Display Question Number : Yes Is Question Mandatory : No
De-Broglie equation states the:
B&-580 HEEE0 BEF TS 0E:
Options :
1. dual nature

50385 52750

1. ¢

-2

particle nature
g2 52700

wave nature
SO0N 52700

(ad



4. none of these

DE3S DA 569

Question Number : 28 Question Id : 7935234128 Display Question Number : Yes Is Question Mandatory : No
Which theory 1s confirmed by the Davison — Germer experiment?
B - B0 D0 T°0° ) VD050 AT BOHDB0E?
Options :
1. de — Broglie theory
& - 580 VT 0eb0

2. Newton’s theory
INVETATSIES [de T Te

3. Einstein’s theory
5 =
NISTAIN IS (Aot Te)

4. Planck’s theory
o’ 05 VT"0H0

Question Number : 29 Question Id : 7935234129 Display Question Number : Yes Is Question Mandatory : No



The uncertainty principle was enunciated by
292 ) AP0 DI B0 H?

Options :
1. Einstein
=5
. W
2. Heisenberg
TR0
2. = '

3. Rutherford

eulatetvie
3%
4. Pauli
4. ] a-‘)@

Question Number : 30 Question Id : 7935234130 Display Question Number : Yes Is Question Mandatory : No

The Bohr’s radius of a hydrogen atom is its principal quantum number.
B2 @) BE) 50 50 TR DT 525030 Do B0.?

Options :
1. inversely proportional to the square of
HERNEVTVE DS ITDOIS0S” GOLNOD

1. ®



12

directly proportional to
DT TS0 SO0

3. 1inversely proportional to

Lk DS @I B0S

4. directly proportional to the square of
Lv  O30E) BHIEVTIE DA 900 GOENOD

Question Number : 31 Question Id : 7935234131 Display Question Number : Yes Is Question Mandatory : No
For a quantum wave particle. E =
5° (00 Do 8, E=

Options :
w1 Rk
ywvd ho

3% 3. hol2

4. hk2

Question Number : 32 Question Id : 7935234132 Display Question Number : Yes Is Question Mandatory : No



Any wave function can be written as a linear combination of
DBD° Do DOED O30E) DB A0S |57 0NVCNDERN0D.

Options :

1. Eigen Vectors
0N 380)

2. Eigen Functions

SN (o AT eN

2. ¥

Eigen Values
;3% 000 DN

8]

4. Operators
8DV

Question Number : 33 Question Id : 7935234133 Display Question Number : Yes Is Question Mandatory : No
The sum of a number of proton and neutron 1s called

LEFET® DO AT5IET® JNER) ©0ErS

Options :

1. Atomic number
DBATED DOWE



2. mass number
PR DO
2.9
3. Isotopes

L x  ORFEHen

4. none of the above

xR IITY

Question Number : 34 Question Id : 7935234134 Display Question Number : Yes Is Question Mandatory : No
1s usually expressed in a unit of nuclear binding energy.
TR0 5800 BoBOR 58 D AHFAES S’ 88605208,
Options :

1. MeV

1. ®

2. eV
2.¢

3. KeV
%

4. Joules
4, %

Question Number : 35 Question Id : 7935234135 Display Question Number : Yes Is Question Mandatory : No



Radioactive element emits particle.

DA 028 SreSo Ee) DDA TBROA.
Options :

l. o- particle
v 0-8890

2. P —particle

- B— 820

3. vy —particle
3 % y— 880

4. none of these
3 Do) 5%

Question Number : 36 Question Id : 7935234136 Display Question Number : Yes Is Question Mandatory : No

During natural radioactivity, unstable nucleus disintegrates to become more
D723 DABTJr 086 HDHOEY. VB S°580HR vBOoeh
€96 £T3°VE )T Y0 a0 D
Options :
1. Stable

VRS

1. ¥



2. Unstable
YT FR AN

3. Excited
A RO

4. Unexcited
905D

Question Number : 37 Question Id : 7935234137 Display Question Number : Yes Is Question Mandatory : No
Name the moderator used in the nuclear reactor.

8758000 BAIrEDS SIBrA0DT IBDEID TS0 ?

Options :

1. Plutonium

JES AONO

2. Thorium

- E8000

Lad

Graphite

T
3.9



4. Berillium

Lx  230Oaho

Question Number : 38 Question Id : 7935234138 Display Question Number : Yes Is Question Mandatory : No
The splitting of nucleus into a smaller nuclei 1s

A5 8ON D) BOATENT 22522020 Q DSNOEFE?

Options :
1. Fusion
wh =
| % FOMYAN
2. Fission
AR
2.%
3. Half- life
- @Q) AN

4. gamma — radiation

M0 - DAODA®

Question Number : 39 Question Id : 7935234139 Display Question Number : Yes Is Question Mandatory : No
Repeatable entity of a crystal structure is known as

BS | 0535 TBE) HNITHYH0 TDE DOE3ES D DeDOETE?



Options :

1. Crystal
- B
2 Ealnce
) ere3
3. Unit cell
ONIDE) DO
3.¢

4. Miller mndices
OO ArrwdEen

Question Number : 40 Question Id : 7935234140 Display Question Number : Yes Is Question Mandatory : No
The number of atoms per unit cell in BCC is

BCC & G5ES DOE TOOS DESTeDHE DODS

Options :

1.2
1.¢



4.6

4. %

Question Number : 41 Question Id : 7935234141 Display Question Number : Yes Is Question Mandatory : No
Minimum interplanar spacing required for Bragg’s diffraction 1s
2370 &S 5500 553900 EA0 206D D @0e530.

Options :

A
y =
1. % *
2.
2. ¢
3. )
3. %
4. 2 A
4. %

Question Number : 42 Question Id : 7935234142 Display Question Number : Yes Is Question Mandatory : No

Which of the following rays are used in the powder method of crystals?

208 &) 8Seren 3357 G HOBS G&HTBrAoI2rderon?

Options :

1. Gamma rays
o 88earen



2. o-rays
a- 8Seren
2. %
3. P-rays

3 B- 8ezren

4. Monochromatic X-rays

[’ (850638 X- 8Seren

4. ¢

Question Number : 43 Question Id : 7935234143 Display Question Number : Yes Is Question Mandatory : No
The color of the nano gold particle 1s
DS 20 820 A3NE) SoiH
Options :
1. Yellow
D6

2. Orange
_ 0023

Red
s )0

Tad



4. Variable
[0

4.9

Question Number : 44 Question Id : 7935234144 Display Question Number : Yes Is Question Mandatory : No
On both ends of the CNTs. which carbon nanostructure is placed?

CNT © TBE) Bo DS, D 8318 S (08I0 S0 E?

Options :
1. Graphite

TR
1. ® :
2. Diamond
- (230
3. Ca
s Cso
4. Benzene
230220
4, %

Question Number : 45 Question Id : 7935234145 Display Question Number : Yes Is Question Mandatory : No

Molecules are held together in a crystal by
BOSES eveansyen o s0° DR EOEF O

Options :



1. Hydrogen bond
&S 2050

2. electrostatic attraction

. OBSe3S estiden

Van der Waal’s attraction

R BO O B8 88

Lad

3. ¢

4. Dipole- dipole attraction
A S0~ & §1G0ed e388ed

Question Number : 46 Question Id : 7935234146 Display Question Number : Yes Is Question Mandatory : No
Born- Haber cycle is used for the measurement of
5°5) - o120 HB0 B Fored §H0 SHATH0TIDCDHHOE?
Options :
1. Mechanism of reaction
.- BArE & DSV20

2. order of reaction

103585 1800



-

3. Lattice energy

oYy 458
3. ¢

4. physical energy

FO5E 8

Question Number : 47 Question Id : 7935234147 Display Question Number : Yes Is Question Mandatory : No
The magnetism of a magnet is due to
OODATLOBHO TJNE) DAY, 0 e 0 OE 530

Options :

1. Earth
239°000

2. Cosmic rays

- )3 § 8degren
3. Due to pressure of big magnet inside the earth
A A S’ D0 DO 9ADAT) 050 2,8 EEIOMT
3.

4. spin motion of electrons

DO[TR VIR BI%AD

4.9



Question Number : 48 Question Id : 7935234148 Display Question Number : Yes Is Question Mandatory : No

Which of the following is a strong magnet?

806 e3¢5 DOV WADATY 050 DE?

Options :
1. Diamagnetic material
03T €38 De38CHS
1 ®
2. ferromagnetic material
I8 @0 065 HrG0
2. ¥
3. Paramagnetic material
P0° @OD®Y0ES DTQO0
3. %
4. ferrimagnetic material
L x O AV 065 HrQOo

Question Number : 49 Question Id : 7935234149 Display Question Number : Yes Is Question Mandatory : No

Which superconductor exhibits complete Meissner effect?
2 QD E0HED HOI*Q Meissner (D2 (DO IN0E?

Options :

1. Type — I superconductor

580 - 105700 0880

1. ¥



12

Type — II superconductor

880 - T 606 E0dEs

3. Both(1)and (2)
(1) DB (2) Do&T

4. none of the above

D DA 5

Question Number : 50 Question Id : 7935234150 Display Question Number : Yes Is Question Mandatory : No

The energy required to break a cooper pair 1s of the energy gap of
superconductor.

50700 2365030 AW I 0 DONTTRE @IS $8 0edD oS0 By, 48
290530

Options :

1. One half
% 2,8 Ao

2. equal to

oI 0
2.



3. twice

BOc BEY

3. % :
4. thrice

L S°C DEX

Question Number : 51 Question Id : 7935234151 Display Question Number : Yes Is Question Mandatory : No

The equation of state for an ideal gas is represented as.

238535 AN Tl DoEBEI0 BEF D

Options :
1. PV=nRT
1. v
2. PV=RT
2. ®
3. PV=R/T
3. %
4. P/V =Nt
4. ®

Question Number : 52 Question Id : 7935234152 Display Question Number : Yes Is Question Mandatory : No

The average kinetic energy of a molecule is dependent on
2,8 9o CBNEY dew i3 38 2 SOIB G0N0



Options :

l. 1ts absolute temperature

PR DO*Q o &l ieb

12

its pressure

T 2,35

its volume
3 3% I §o)

LS ]

4. 1ts nature of the gas

PO A3NEY  £23°90

Question Number : 53 Question Id : 7935234153 Display Question Number : Yes Is Question Mandatory : No
In a Carnot cycle, what 1s the working fluid?
586 DB, D A0 @OTY DaEI?
Options :
1. areal gas

D230 O e)

2. anideal gas

LTnleRFVIOWIN

2.¢



3. anatural gas
- Qad°23 67O )
4. none of the above
Lx D DDTY

Question Number : 54 Question Id : 7935234154 Display Question Number : Yes Is Question Mandatory : No

The unit of temperature in S.I. unit is

S.L DD & ol |ffed ONTRE

Options :
1. Celsius
= Y =
. D) YONW
7.8

Centigrade

N Mol (g

3. Fahrenheit
P OSared
3. %
4. Kelvin

Question Number : 55 Question Id : 7935234155 Display Question Number : Yes Is Question Mandatory : No



Which one of the following thermodynamic quantities is not a state function?

806 ¢3S DO T IBNE DOSTELIOS RES (HTOHNO S°CN?

Options :

1. Gibbs free energy

} 025 ) s Deb 35S
1.
2. Enthalpy
DOGTE))
2. %
3. Entropy
DO D
3. % :
4. work
D)
4.9

Question Number : 56 Question Id : 7935234156 Display Question Number : Yes Is Question Mandatory : No

The slope of the curve given by Clausius — Clapeyron equation is
1865 BNE) 70N TRONW - 0TS DoEBEI0 T°ST° @D DR DE?
Options :
1. V-T plot
L x  V-Tr&



L, 9-8FS
3. S-T plot
. R-BTES

4. None of the above
2 39 559

Question Number : 57 Question Id : 7935234157 Display Question Number : Yes Is Question Mandatory : No

Liquid widely used in the thermometer is

AT DS DAYBOT 78 (950

Options :
1. Water
1. ® (%C!D
2. L
- D) O
3. Mercury
T OONO

3. ¢



4. copper (II) sulphate
o°f (I) SSHE

Question Number : 58 Question Id : 7935234158 Display Question Number : Yes Is Question Mandatory : No
is neither created nor destroyed it can only change one form to another.

DYROVVBS D B T FI0 BAVDBECN 0 2,8 o) &S
E0rar8 A e 378 e .

Options :

1. Energy

Le B8
2. Work
D)
2. %
3. Heat
s w =53

4. Mass of body

Question Number : 59 Question Id : 7935234159 Display Question Number : Yes Is Question Mandatory : No



Wien’s Displacement Law is a special case of
DS ) BV DIDOE JONVAN B T, (DB sEeh?
Options :

1 Newton’s law
QAEEI

1. #

2.Stefan’s law
L x DDS ANV

3.Planck’s law

05 DOHSISD

3.

4 Kirchhoff’s law
§{T’I}'§j QO

Question Number : 60 Question Id : 7935234160 Display Question Number : Yes Is Question Mandatory : No

The law governing the distribution of radiant energy over wavelength for a black body at
fixed temperature is referred to as

VDS €565 9Q EJa) DeWeY TR0 SHSONTYOD (DBFH0HJD 38
HONEBA AONO(SBOT HELO ©OLFH

Options :

1. Planck’s law

05 DAHVSM

1. ¥



2. Kirchhoff's law
807 ) QOSSN

Wein’s formula
xR A0S

d

4. Lambert’s law

€030 AN

Question Number : 61 Question Id : 7935234161 Display Question Number : Yes Is Question Mandatory : No

Fermi Dirac Statistics 1s for the
2082 A0S ferosren B §'H0o

Options :
1. Distinguishable particles

2 DAdKe Segren

2. Particles with half integral spin

DHO Qo) VY &) earen

2. ¥

Photons
IRV

(8]



4. Electrons
DO T

Question Number : 62 Question Id : 7935234162 Display Question Number : Yes Is Question Mandatory : No
Maxwell — Boltzmann law 1s for the

S5 RO - B5O_STS JONHSN TR §Ho

23 23

Options :
1. Distinguishable particles
L S DAvEE EeTren
2. Indistinguishable Particles
JE DONBA FeTren
2. %

3. Particles with half integral spin
QA0 DD DI E5cd) Searen

3. %

4. Particles with integral spin
Do IS Eeren

Question Number : 63 Question Id : 7935234163 Display Question Number : Yes Is Question Mandatory : No
Which of the following phenomena is used in optical fibres?

SNES 5 0B 73S &) B9f AN BT AOTI B0 E?



Options :
1. Total internal reflection
v B0 @006 (He38)000

2. Scattering
HDOT DI

Diffraction
- D3 O

S ]

4. Refraction

L 318255550

Question Number : 64 Question Id : 7935234164 Display Question Number : Yes Is Question Mandatory : No

Light year 1s the unit of
SP0e3 D0ES YIS0 ANEY AVTDE
Options :
1. Light
SOl

2. Time

QSO



3. Speed
3 5&0

4. distance

Le Ordo

Question Number : 65 Question Id : 7935234165 Display Question Number : Yes Is Question Mandatory : No
Which of the following will produce smaller chromatic aberration
¢ a S A .
E80A ae3S DA DN 1578738 SOOI B5eh 18 TNOE
Options :

1. thick lens

OB B
1. ®
2. thin lens
- PN B
3. Dboth will produce equal chromatic aberration
. Dodyr o S HEONORD Ereh 1 TATOW
3.

4. msufficient information
HRS0Ed DIFTTH0 B



Question Number : 66 Question Id : 7935234166 Display Question Number : Yes Is Question Mandatory : No

Spherical aberration occurs when light passes through
063 HOT TLOAD) Y A S €570 DB HEEROE

Options :
1. the center part of the lens

[BISAT o IFATe

2. around lens

=
5 % 30& @m‘lg
3. diverging lens
DN BRY
3. %
4. the edge of a lens
S !
L S) WO

Question Number : 67 Question Id : 7935234167 Display Question Number : Yes Is Question Mandatory : No

The main principle used in Interference is
Interference & &HADFAOD (DT (50

Options :
1. Heisenberg’s Uncertainty Principle

TR0 A3NE) @DFed QB0



2. Superposition Principle
- QAN OP2Z AR 750
Quantum Mechanics

3 5° £0CY0 DTS

[ ]

4. Fermi Principle
202 80

Question Number : 68 Question Id : 7935234168 Display Question Number : Yes Is Question Mandatory : No
Principle of superposition can be applied to
QATNOF2AR A0 BOE S80I
Options :
1. EM waves
 x  EM&0oomen
2. sound waves
,x QS edomren

radio waves

- DA SSomren

fsd

4. all of above

4 T&Jiﬁél



Question Number : 69 Question Id : 7935234169 Display Question Number : Yes Is Question Mandatory : No

The device used m the Michaelson Morley experiment was

DTOIR T8 (HTFH0CS SHTVrHNT HOES0

Options :
1. Telescope
Lk RO
2. Plain Grating
rorde ([Re3oh
2. %
3. Interferometer

v ROLDDIDED

4. Prism
(20230

Question Number : 70 Question Id : 7935234170 Display Question Number : Yes Is Question Mandatory : No

Which of the following does not show any interference pattern?
b ¢ s e ¥ R
808 35 DO Interference SeFTEaD P2 CD?

Options :



1. Soap bubble

Qd20)) 20650
1. %
2. Excessively thin film
- @O D) W(eHO

A thin film
3 % QAR WO

T4d

4. Wedge shaped film
DOE 35506 59 D0

Question Number : 71 Question Id : 7935234171 Display Question Number : Yes Is Question Mandatory : No

How many lenses are used in Fraunhofer Diffraction in laboratory conditions
(DTBFEF° DBV (R D0 BErESES D) BD)ew
POV [t R AT oW
Options :

1. Two Convex lenses

. BOD Suoers s Eeyseen
1.

2. Two Concave lenses
DOCD )¢50 88570



-

3. One Convex lens
2,5 Svoersed &350

4. No lens used
B ) SR GES D

Question Number : 72 Question Id : 7935234172 Display Question Number : Yes Is Question Mandatory : No

In Fresnel Diffraction. the incident wavefront 1s
DO AETFESS, HoNES IS (D08 E?

Options :
1. Hyperbolic
e 2XO0NOS
2. Linear
OJANT
2. %
3. Spherical

s Fereged

4. Elliptical
DODES

Question Number : 73 Question Id : 7935234173 Display Question Number : Yes Is Question Mandatory : No



The working of Nicol prism is based on the phenomenon of
DESD D20 A & SN0 STANEGD D DXOE?

Options :

1. Refraction
3182365850

2. Reflection
12e32)02)0

3. Diffraction
DI DO

4. Double Refraction
%20 825980

4.

Question Number : 74 Question Id : 7935234174 Display Question Number : Yes Is Question Mandatory : No
Brewster angle 1s valid for which type of polarization?
12270 5700 o) BB IEVNIETIE TENHOE?
Options :
1. Perpendicular
&0200N"



2. Parallel

PSINVela-Telolek
2. ¥
3. S polarized
4. P polarized
. P05
4,

Question Number : 75 Question Id : 7935234175 Display Question Number : Yes Is Question Mandatory : No

Which of the following is a three-level laser?
808 are3SS DO S R-TToN B2d?

Options :
. x 1. ND: YAG

I~

Ruby

- &

; » 3. He—Ne

4. Semiconductor Laser

Qa0 %30 S5



Question Number : 76 Question Id : 7935234176 Display Question Number : Yes Is Question Mandatory : No

In holographic data storage. the information is stored in

230 DS BEF e £6T, DAFTE0 DOCHS’ A § DODDEEA0E

Options :

1. Pen drives
D | BN

] ®
2. Cells
Seren
2. %
3. Crystals
EORALHDY
3.
4. Diode
&IONE
4, %

Question Number : 77 Question Id : 7935234177 Display Question Number : Yes Is Question Mandatory : No
The quantity which has only magnitude is called
DOXTEF) AT(Ha0 EOA S5OT 0°2 Q DSDOEFED?
Options :
1. a scalar quantity
v erdod



12

a vector quantity
2 % 5%6 ET’%J

L)

a chemical quantity

1w OrORS U°F

4. a magnitude quantity
D00 O°F

Question Number : 78 Question Id : 7935234178 Display Question Number : Yes Is Question Mandatory : No

The path traversal 1s calculating the green’s theorem in
TS (ErHBND 1A DT 0EE) Der SELIT0O?
Options :

. Clockwise
Lk DDI5OFS

-2

Anticlockwise

e9N0SsAFS’
2. '
Inwards

x ODO8

b

4. Outwards
2" SO



Question Number : 79 Question Id : 7935234179 Display Question Number : Yes Is Question Mandatory : No
The alpha particle scattering experiment was carried out by

237 ) PBED Y EIB0N (HDAIFHO DO @0 DB L0 IDB0E?
Options :

1. J. Chadwick
2. G €5

2. Rutherford
SO

3. Goldstein
FORVONS

4. J.J. Thomson

2.2. T

Question Number : 80 Question Id : 7935234180 Display Question Number : Yes Is Question Mandatory : No
Work done in raising a box depends on
Box &0 0G0 DN D B 2 STENG G0N0

Options :



1. how fast it is raised

w0 O DOBDBOS
2. the strength of the man
- DA A8y 20

3. the height by which it 1s raised

NV TA RN OINTATA TN DR

4. none of the above
2 D) 5%

Question Number : 81 Question Id : 7935234181 Display Question Number : Yes Is Question Mandatory : No

The product of torque and angular displacement is

D) DBO T FO2I0F0 TNE), coed )€

Options :
1. Torque
ey
1. %
2. Work
)

2.¥



-

3. Power

35

4. Angular Momentum

30D BRTOEIO

Question Number : 82 Question Id : 7935234182 Display Question Number : Yes Is Question Mandatory : No
Axis of rotation of wheel in gyroscope is called
BEFLDS 1E 1256069 2950 Q eN0ErEy?
Options :
1. Spin axis
VY0 8o

2. Vertical axis
DN €908 0

3. Horizontal axis
- § e323 Dr0evd @8 0

4. Angular axis

500 @50



Question Number : 83 Question Id : 7935234183 Display Question Number : Yes Is Question Mandatory : No
Continuous beams are

QB0e8 §BeTren NN

Options :

1. Statistically determinate beams
Ber08NSOmT APON 0T Edearen

2. Statistically indeterminate beams

. Bear 08O B0 @F)ed §dearen
2.

Lk

Statistically gravity beams
e 08D B0 (Hevee cEOen 8dearen

4. Framed beams
o 8Seren

Question Number : 84 Question Id : 7935234184 Display Question Number : Yes Is Question Mandatory : No
What 1s Poisson’s ratio?

PO ANIB DOEH?

Options :

1. Ttis ratio of lateral strain to longitudinal strain

O arSy s 28 Darod 28 D)

1. ¥



12

It 1s ratio of force to the area

2O 3750 8 38 § DS

3. Itisratio of change in length to the original length

2E O PHHB0 PBeHS” STED ) TE), A1)

d B

4. None of the above
D 2 %Y

Question Number : 85 Question Id : 7935234185 Display Question Number : Yes Is Question Mandatory : No

Which of the following is an example of central force?
808 ¢3S 0[S 278 SIS Dae3?
Options :

1. gravitational force

Hoer 8080 35

2. the electrostatic force

DB TTe3s 5

-

3. the spring force
(0N 45



4. all of the above forces

20 80 @) d3ven

4.

Question Number : 86 Question Id : 7935234186 Display Question Number : Yes Is Question Mandatory : No
Kepler's second law is known as
B0 AWNEY) DO QAN &2 NN BT NN
Options :
1. The law of Orbits
8& 50 QAW

. ®
2. The law of Areas
0TS0 QDO
2.
3. The law of Periods
L 0ODHE) DAHBN

4. The law of Gravity
e 5080 DONSVSD

4. %

Question Number : 87 Question Id : 7935234187 Display Question Number : Yes Is Question Mandatory : No

In the case of V << C. Lorentz transformation is the same as
V << C DAOHOE, S B0 HONIBS BRE a357950



Options :

1. Einstein’s transformation
5 o v
DR D8O

2. Galilean transformation

Lo TODMDS HBHES
3. Maxwell’s transformation
- S8 IBO HBHBS

4. Plank’s transformation
L% OB HOSES

Question Number : 88 Question Id : 7935234188 Display Question Number : Yes Is Question Mandatory : No
The basic principle used to obtain mass-energy relation is

156350°2-48 Q02205 FOATRE GIFAOD (GRS Q°eh0
Options :

1. Heisenberg’s uncertainty principle

TR0 A3EY 9B e OSSO

12

Work — Energy theorem

L OV -35 177050



Momentum Conservation theorem
BNO0E0 DBBE 2 DT 0eB0

Ll

4. Maxwell theorem
A8 )RO VFT0H0

Question Number : 89 Question Id : 7935234189 Display Question Number : Yes Is Question Mandatory : No

The total energy of a particle executing simple harmonic motion is
B F T EAOEL @sHen D 2.8 a0 BE) Jncdo $§

Options :
, % 2. oX?
3. independent of X
- X QD0OEG gedo(edomT
4% 4 oVX

Question Number : 90 Question Id : 7935234190 Display Question Number : Yes Is Question Mandatory : No
Which of the following shapes of the body can be considered as compound pendulum

Body 3308, 808 €380 2O o029 S0 5B HOMNEI0I2 06



Options :

. Cylindrical

Lk WSS
2. Cubical
. EDES

3. Cuboidal
o523 OO

4. any rigid body
DT° S90S body

4. ¢

Question Number : 91 Question Id : 7935234191 Display Question Number : Yes Is Question Mandatory : No
Oscillations are damped due to the presence of

B €8 S EEIOMT O EN ST oW

Options :

1. linear motion

DA 52550

2. restoring force

DOHRES #8



-

3. frictional force
3. f:}] @ £ ;‘5/ %

4. mechanical force

oSro(edd 38

Question Number : 92 Question Id : 7935234192 Display Question Number : Yes Is Question Mandatory : No

What is the frequency with which forced periodic oscillations oscillate?
220506501 833 EOren B0 T (DT LV dae3?

Options :

1. Frequency of forced oscillator

22630655 2,030 ANEY (DT

1.¢¥
2. Their natural frequency
. °E3 D23 D300
3. No specific frequency
QPR (DB B
3. %

4. Sum of frequency of forced oscillator and their natural frequency
220506501 2,030 WBNE) (DT IV, O ae3 Hdores
(@B 5R,) BBo

4. %



Question Number : 93 Question Id : 7935234193 Display Question Number : Yes Is Question Mandatory : No
The Fourier series of an odd periodic function contains only

B 838 HOES TWE) FOOND VBV A S |shad EDB S0ENOO
Options :

1. cosine terms
SESISEAATIATNIDN

2. sine terms
R ADO0AIEN

odd harmonics

NP S POSPIALN

Tad

4. even harmonics

D58 3608 )

Question Number : 94 Question Id : 7935234194 Display Question Number : Yes Is Question Mandatory : No
Triangular wave form has

(£32023°5°8 SO0N SN0 8§ HODOAODIE

Options :

1. Rise time < fall time

2NN DN <DBN0 DDA O



2. Rise time = fall tiune
2NN DNCANO0 = DHS0 DDTNO

2.¢¥

3. Rise time > fall time

DN DNCNO = DBN0 QDO

4. none of the mentioned

L w DO I D

Question Number : 95 Question Id : 7935234195 Display Question Number : Yes Is Question Mandatory : No
Which is not the application of ultrasonic waves?

& (B0 S @ EFFAS HE0Mme) GOBr 0 BIE?
Options :

1. cutting and making of hard materials

5E3 BT B0 NOOIN AT TANEGO

2. measurement of flow devices
(a7 O80T ereh

3. thermal effect
oo (087790



4. joining hard materials
30 0eIBCHS ) & 235D ANSO

4.9

Question Number : 96 Question Id : 7935234196 Display Question Number : Yes Is Question Mandatory : No

Find the displacement in mm of the free longitudinal vibrations if the natural frequency 1s 15 Hz
o, a f

D323 Fd2e)50 15 Hz @900& ed Dgrod §000°0 rd(25040 mm S DOes?

Options :
L by B
2. 1.2
2. %
3. A5
3. %
4. 1.6
4, %

Question Number : 97 Question Id : 7935234197 Display Question Number : Yes Is Question Mandatory : No

The loudness of a sound wave 1s related to its
A5 dB0me $220 HAE H020S0DIE

Options :
1. Duration

NN



2. Frequency
AN

-

3. Wavelength

elelaIn1el{e!

4. Amplitude
4.9 °§

Question Number : 98 Question Id : 7935234198 Display Question Number : Yes Is Question Mandatory : No
Frequency of sound produced from an organ pipe open at both ends are
BO& DHISET BODS €300 FEIO D0 €5¢5 105 DTDS S5 BBTHAS0
Options :

1. even and odd harmonics

D8 B0 B S8

1.¥

2. only odd harmonics

232 57828 ) S| ehad

3. only even harmonics

6 FED8 Y 07D



4. only fundamental note

ErSDE BHDE S| seh

Question Number : 99 Question Id : 7935234199 Display Question Number : Yes Is Question Mandatory : No
Which of the following effects can be used to produce ultrasonic waves?
9| EFFE HBOTOX 56518 DODNTIE & 180D (Derare S DO
500300 )?
Options :
1. Magnetostriction effect

ST & RES (D270

B i

1. ¢

2. doppler effect
D (202300

2. %
3. magnetic effect
. ANTTY 06D | D20
4. sound effect
DS (292790
4, %

Question Number : 100 Question Id : 7935234200 Display Question Number : Yes Is Question Mandatory : No



Which of the following causes acoustical grating?

208 ¢3S DTVE (N300 DBIBEFIE 52520 DaEI?
Options :
1. Magnetic waves

OV 0% SSHOMTeN

2. Electric waves

DN §ED SHGOTTED

3. Magnetostriction effect
. JSrTYE 1SS 1D27°50

4. Ultrasonic waves

| PP VE ddormren



